

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK. 74103 IFB 25-710
TFD Class B Uniforms
Fire Department
Bid Opening Date: December 19, 2024

Senior Buyer: Samantha Toothaker <u>stoothaker@cityoftulsa.org</u> Please contact if you have any questions

Delivery:

If Your Bid is Accepted, state the number of Days You need to deliver the Supplies and/or to begin providing Services

You must be able to deliver the Supplies and/or Services as specified in Your Bid. Failure to do so may result in City terminating the Agreement and pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity.

Pricing:

		Uniform Wai	ehouse, Inc.	Safeguard Business Systems, LLC		Bordova Outfitters, LLC		Boot Barn, Inc			
Item	Description	Est. Qty	UOM	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	Shorts - Sport-Tek ST310 Color: True Navy Sizes S - XL	400	EA	\$13.10	\$5,240.00	\$16.00	\$6,400.00	\$15.19	\$6,076.00	\$0.00	\$0.00
2	Shorts - Sport-Tek ST310 Color: True Navy Size 2XL	20	EA	\$14.30	\$286.00	\$17.00	\$340.00	\$16.59	\$331.80	\$0.00	\$0.00
3	Sweatpants - Sport-Tek ST257 Color: True Navy Sizes S - XL	40	EA	\$20.50	\$820.00	\$25.00	\$1,000.00	\$23.59	\$943.60	\$0.00	\$0.00
4	Sweatpants - Sport-Tek ST257 Color: True Navy Size 2XL	10	EA	\$21.80	\$218.00	\$26.00	\$260.00	\$24.99	\$249.90	\$0.00	\$0.00
5	Short Sleeve T-Shirt - Port & Company PC61 Color: Red Sizes S - XL	100	EA	\$4.20	\$420.00	\$4.10	\$410.00	\$5.27	\$527.00	\$0.00	\$0.00
6	Short Sleeve T-Shirt - Port & Company PC61 Color: Red Size 2XL	20	EA	\$5.60	\$112.00	\$6.97	\$139.40	\$6.84	\$136.80	\$0.00	\$0.00
7	Short Sleeve T-Shirt – Port & Company PC61T Color Red Sizes LT - XLT	10	EA	\$6.60	\$66.00	\$8.23	\$82.30	\$7.99	\$79.90	\$0.00	\$0.00
8	Short Sleeve T-Shirt – Port & Company PC61T Color Red Size 2XLT	10	EA	\$9.00	\$90.00	\$11.08	\$110.80	\$10.58	\$105.80	\$0.00	\$0.00
9	Short Sleeve T-Shirt – Port & Company PC61T Color Red Size 3XLT	10	EA	\$9.40	\$94.00	\$11.65	\$116.50	\$11.10	\$111.00	\$0.00	\$0.00
10	Short Sleeve T-Shirt – Hanes Beefy-T 5180 Color Navy Sizes S - XL	480	EA	\$5.60	\$2,688.00	\$6.48	\$3,110.40	\$6.84	\$3,283.20	\$0.00	\$0.00
11	Short Sleeve T-Shirt – Hanes Beefy-T 5180 Color Navy Size 2XL	30	EA	\$7.40	\$222.00	\$9.09	\$272.70	\$8.77	\$263.10	\$0.00	\$0.00
12	Short Sleeve T-Shirt – Hanes Beefy-T 5180 Color Navy Size 3XL	30	EA	\$9.40	\$282.00	\$11.58	\$347.40	\$11.04	\$331.20	\$0.00	\$0.00

13	Short Sleeve T-Shirt – Hanes Beefy-T 518T	180	EA	\$6.60	\$1,188.00	\$6.48	\$1,166.40	\$9.57	\$1,722.60	\$0.00	\$0.00
13	Color Navy Sizes LT - XLT	180	EA	00.00	\$1,166.00	\$0.40	\$1,166.40	\$9.5 <i>1</i>	\$1,722.60	\$0.00	\$0.00
14	Short Sleeve T-Shirt – Hanes Beefy-T 518T Color Navy Size 2XLT	60	EA	\$9.00	\$540.00	\$9.09	\$545.40	\$9.74	\$584.40	\$0.00	\$0.00
15	Short Sleeve T-Shirt – Hanes Beefy-T 518T Color Navy Size 3XLT	60	EA	\$9.40	\$564.00	\$11.58	\$694.80	\$12.12	\$727.20	\$0.00	\$0.00
16	Long Sleeve T-Shirt – Hanes Beefy-T 5186 Color Navy Sizes S - XL	180	EA	\$10.30	\$1,854.00	\$12.72	\$2,289.60	\$12.08	\$2,174.40	\$0.00	\$0.00
17	Long Sleeve T-Shirt – Hanes Beefy-T 5186 Color Navy Size 2XL	10	EA	\$12.40	\$124.00	\$15.26	\$152.60	\$14.39	\$143.90	\$0.00	\$0.00
18	Long Sleeve T-Shirt – Hanes Beefy-T 5186 Color Navy Size 3XL	10	EA	\$14.50	\$145.00	\$17.80	\$178.00	\$16.70	\$167.00	\$0.00	\$0.00
19	Long Sleeve T-Shirt – Port & Company PC61LST Color Navy Sizes LT - XLT	20	EA	\$7.95	\$159.00	\$9.78	\$195.60	\$9.40	\$188.00	\$0.00	\$0.00
20	Long Sleeve T-Shirt – Port & Company PC61LST Color Navy Size 2XLT	10	EA	\$10.80	\$108.00	\$13.37	\$133.70	\$12.67	\$126.70	\$0.00	\$0.00
21	Long Sleeve T-Shirt – Port & Company PC61LST Color Navy Size 3XLT	10	EA	\$12.40	\$124.00	\$15.25	\$152.50	\$14.37	\$143.70	\$0.00	\$0.00
22	Sweatshirt – Hanes Ultimate Cotton F170 Hooded Color Navy Sizes S - XL	120	EA	\$22.50	\$2,700.00	\$27.46	\$3,295.20	\$25.77	\$3,092.40	\$0.00	\$0.00
23	Sweatshirt – Hanes Ultimate Cotton F170 Hooded Color Navy Size 2XL	30	EA	\$27.00	\$810.00	\$33.34	\$1,000.20	\$30.84	\$925.20	\$0.00	\$0.00
24	Sweatshirt – Hanes Ultimate Cotton F170 Hooded Color Navy Size 3XL	30	EA	\$31.80	\$954.00	\$39.25	\$1,177.50	\$36.21	\$1,086.30	\$0.00	\$0.00
25	Sweatshirt – Hanes Ultimate Cotton F260 Crewneck Color Navy Sizes S - XL	40	EA	\$15.90	\$636.00	\$19.37	\$774.80	\$18.31	\$732.40	\$0.00	\$0.00
26	Sweatshirt – Hanes Ultimate Cotton F260 Crewneck Color Navy Size 2XL	10	EA	\$17.00	\$170.00	\$20.94	\$209.40	\$19.55	\$195.50	\$0.00	\$0.00
27	Sweatshirt – Hanes Ultimate Cotton F260 Crewneck Color Navy Size 3XL	10	EA	\$19.80	\$198.00	\$24.38	\$243.80	\$22.69	\$226.90	\$0.00	\$0.00
28	Sweatshirt – Hanes Ultimate Cotton F280 Full Zip Hooded Color Navy Sizes S - XL	50	EA	\$25.80	\$1,290.00	\$30.75	\$1,537.50	\$28.49	\$1,424.50	\$0.00	\$0.00
29	Sweatshirt – Hanes Ultimate Cotton F280 Full Zip Hooded Color Navy Size 2XL	20	EA	\$31.70	\$634.00	\$32.29	\$645.80	\$29.89	\$597.80	\$0.00	\$0.00
30	Sweatshirt – Hanes Ultimate Cotton F280 Full Zip Hooded Color Navy Size 3XL	20	EA	\$36.00	\$720.00	\$35.37	\$707.40	\$32.69	\$653.80	\$0.00	\$0.00
TOTAL EXTENDED COST NOT TO EXCEED: (All costs must be included or Your Bid will be disqualified)		\$23,4	\$23,456.00 \$27,68		89.70 \$27,352.00		\$0.00				
Delivery:		10 Days		7-10 Business Days- Embroided or Screenprint 1-2 Days If Blank		10 Business Days		N/A			
	Annual	Price Ad	justment:	N.	/A	0%		10% Fixed		15% Fixed	
	Notes		Notes:	N	/A	N/A		N/A		N/A	

Bulk Order Price Breaks - Discount Percentage for Bulk Quantity ordered on a Single Order

		Uniform Warehouse - Left Blank						
Item	Qty Range	Discount %	Qty Range	Discount %	Qty Range	Discount %		
Shorts	_	%	_	%	_	%		
Sport-Tek ST310		70	_	70	_	70		
Sweatpants	_	%		%	_	%		
Sport-Tek ST257	_	/0	_	/0	_	/0		
Short Sleeve T-Shirts		%		%		%		
Hanes 5180, 518T		/0	-	/0	_	/0		
Short Sleeve T-Shirts		%		%		%		
Port & Company PC61, PC61T	-	70	_	70	_	70		
Long Sleeve T-Shirts		%		%		%		
Hanes 5186	_	70	•	70	_	70		
Long Sleeve T-Shirts		%		%		%		
Port & Company PC61LST	_	/0	_	/0	_	/0		
Sweatshirts – Hooded		%		%		%		
Hanes F170	-	70	_	70	_	70		
Sweatshirts – Crewneck		%		%		%		
Hanes F260		%		70		70		
Sweatshirts - Hooded Full Zip		%		%		%		
Hanes F280	-	%	_	70	_	70		

Bulk Order Price Breaks - Discount Percentage for Bulk Quantity ordered on a Single Order

		Safeguard Business Systems, LLC							
Item	Qty Range	Discount %	Qty Range	Discount %	Qty Range	Discount %			
Shorts Sport-Tek ST310	100-200	5%	200-300	5%	300-600	10%			
Sweatpants Sport-Tek ST257	100-200	5%	200-300	5%	300-600	10%			
Short Sleeve T-Shirts Hanes 5180, 518T	100-200	5%	200-300	5%	300-600	10%			
Short Sleeve T-Shirts Port & Company PC61, PC61T	100-200	5%	200-300	5%	300-600	10%			
Long Sleeve T-Shirts Hanes 5186	100-200	5%	200-300	5%	300-600	10%			
Long Sleeve T-Shirts Port & Company PC61LST	100-200	5%	200-300	5%	300-600	10%			
Sweatshirts – Hooded Hanes F170	100-200	5%	200-300	5%	300-600	10%			
Sweatshirts – Crewneck Hanes F260	100-200	5%	200-300	5%	300-600	10%			
Sweatshirts - Hooded Full Zip Hanes F280	100-200	5%	200-300	5%	300-600	10%			

Bulk Order Price Breaks – Discount Percentage for Bulk Quantity ordered on a Single Order

		Bordova Outfitters, LLC - Left Blank								
Item	Qty Range	Discount %	Qty Range	Discount %	Qty Range	Discount %				
Shorts		%	_	%	_	%				
Sport-Tek ST310		/0	_	/0	_	/0				
Sweatpants		%		%		%				
Sport-Tek ST257	-	70	_	70	_	70				
Short Sleeve T-Shirts		%		%		%				
Hanes 5180, 518T	-	70	_	70	_	70				
Short Sleeve T-Shirts		0/		0/		%				
Port & Company PC61, PC61T	-	%	_	%	_	70				
Long Sleeve T-Shirts		%		%		%				
Hanes 5186	-	70	_	70	_	70				
Long Sleeve T-Shirts		%		%		%				
Port & Company PC61LST	-	70	_	70	_	70				
Sweatshirts - Hooded		%		%		%				
Hanes F170	-	70	_	70	_	70				
Sweatshirts - Crewneck		0/		%		%				
Hanes F260	-	%	_	%	_	%				
Sweatshirts - Hooded Full Zip		0/		0/		0/				
Hanes F280	-	%	_	%	_	%				

Bulk Order Price Breaks - Discount Percentage for Bulk Quantity ordered on a Single Order

	Boot Barn, Inc.							
Item	Qty Range	Discount %	Qty Range	Discount %	Qty Range	Discount %		
Shorts Sport-Tek ST310	_	15%	1	15%	-	15%		
Sweatpants Sport-Tek ST257	_	15%	-	15%	-	15%		
Short Sleeve T-Shirts Hanes 5180, 518T	_	15%	-	15%	-	15%		
Short Sleeve T-Shirts Port & Company PC61, PC61T	_	15%	-	15%	-	15%		
Long Sleeve T-Shirts Hanes 5186	_	15%	-	15%	_	15%		
Long Sleeve T-Shirts Port & Company PC61LST	_	15%	ı	15%	-	15%		
Sweatshirts – Hooded Hanes F170	-	15%	ı	15%	-	15%		
Sweatshirts – Crewneck Hanes F260	_	15%	_	15%	-	15%		
Sweatshirts - Hooded Full Zip Hanes F280	_	15%	-	15%	-	15%		

THE CITY DOES NOT GUARANTEE ANY SPECIFIC QUANTITY OR NUMBER OF PURCHASES, IF ANY, THAT WILL BE MADE DURING THE AGREEMENT TERM.